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Queskion 1 -

2.3 Tutorial: Write a recursive function flip_two that takes as input a linked list 1nk
and mutates 1nk so that every pair is flipped.

def flip_two(lnk):

>>> one_lnk = Link(1)

>>> flip_two(one_1lnk)

>>> one_lnk

Link(1)

>>> 1nk = Link(1, Link(2, Link(3, Link(4, Link(5)))))
>>> flip_two(1lnk)

>>> 1nk

Link(2, Link(1, Link(4, Link(3, Link(5)))))
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Qwshion A

2.4 Tutorial: Implement filter_link, which takes in a linked list 1ink and a function
f and returns a generator which yields the values of link for which f returns True.

Cl
Try to implement this both us%g a while loop and without using any form of

iteration.

def filter_link(link, f):

>>> link = Link(1, Link(2, Link(3)))

>>> g = filter_link(link, lambda x: x % 2 == 0)
>>> next(g)

2

>>> next(g)

StopIteration

>>> list(filter_link(link, lambda x: x % 2 != 0))
[1, 31
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